Q.No.1 use synthetic division to find the Quotient and the remainder, when

i

ii

$$(x^2+7x-1) = (x+1)$$
  
 $(x^2+7x-1) = (x+1)$ 

As xH = x - (-1), so  $\alpha = -1$ 

Now, write the lo-efficient of a from divided in a row and a=-1 on included side.

Quotient= Qx = x+6 and remainder=-7

(4x2-5) + (9) + (9) +3)

As x+3=x+(-3) go,  $\alpha=-3$ Now, write the co-efficient of xfrom a vidend in a row and  $\alpha=-3$ 

on the left side.

Quotient - Qx = 422-12x +31

Remainder = -78

### Sardar Abdul Qadeer Malik

PhD(Mathematics Scholar)
HOD Math Department
0341-5838491

## Sardar Abdul Oadeer Malik

PhD(Mathematics Scholar) HOD Math Department 0341-5838491

h = 63 h = 7. 27 h = 7. 27PhD(Mathematics Scholar)
HOD Math Department
0341-5838491

```
正
         1 is the zero of polynomial
              23 - 2hx2+11
        P(x) = x^3 - 2hx^2 + 11
           John Out alling work
            \frac{1}{1} \frac{1-2h}{1-2h} \frac{1-2h}{11+(1-2h)}
         Cartient = Q(x) = x2+(1-2h)x+(1-2h)
             Remainder = 11+ (1-2h)
             1 is the zero of given of jumial
         90
             R = 11+(1-2h) = 0
                 11+1-2h=0
                  12-2h =0
                   -2h = -12
                   h = 6
il -1 is the ser of colynomial 2x + 5hx-23
          P(x)= 2 x3+5h2-23
                     o 5h -23
            -2 -2 -(Sh+2)
        Quotient = Q(x) = 2x^2 - 2x + (5h+2)
           Remainder = -13-(5h+2)
          As I is the zero of polynomial.
             R = -23 - (5h+2) =0
                 -23-5h-2=0
                 5-5h=6 Sardar Abdul Qadeer Malik
                             PhD(Mathematics Scholar)
                   -sh= 25
                              HOD Math Department
                    ルニーラ
                                  0341-5838491
```

62.No.3 Use synthetic division to find the values of I amd m. if i (x+3) and (x-2) are the factors of polynomial x +4x+2lx+m P(x) = 23 + 4x2 + 2lx + m emd -3 and 2 are the roots. For x = - 3 1 4 22 m  $-\frac{3}{4}$   $-\frac{3}{4}$ Quotient = Q(x) = 22 +2 +(213) Kemainder= m-3(21-3) As (2+3) i's the factor of given polynomial 30, m-3(21-3)=0m-61+q=0 — (1) For x = 2 4 21 m  $\frac{1}{1} \frac{2}{6} \frac{12}{(2l+12)} \frac{2(2l+12)}{m+2(2l+12)}$ Quotient = Qca) = x2+6x+26+12 Remainder = m+2(28+12) As (x-2) is the factor. So, m+2(21+12)=0 m +42+24=0 -> (ii) Subtract (1) and (ii') Sardar Abdul Qadeer PhD(Mathematics Scholar) n-61+9=0 HOD Math Department -101-15=0

The depressed equation is
$$x^{2} + 2x - 2y = 0$$

$$x^{2} + 6x - 4x - 2y = 0$$

$$x(x+6) - 4(x+6) = 0$$

$$(x-4)(x+6) = 0$$

$$x-4=0$$

$$x=4$$

$$x=6$$

30, the roots are 2,4 & -6 (W)

3 is the root of the equation 2x3-3x2-11x+6=0

P(x)=2x3-3x2-11x+6 and 3 is - he root.

Buotiento Por 2x73x-2

Remainder - 0

The depressed Equation is.

$$2x(x+2)-1(x+2)=0$$

So roots are, 3, 1/2 and -2.

## Sardar Abdul Qadeer Malik

PhD(Mathematics Scholar) **HOD Math Department** 0341-5838491

#### Sardar Abdul Qadeer Malik

PhD(Mathematics Scholar) **HOD Math Department** 0341-5838491

iii -1 is the roots of the equation

$$4x^3 - x^2 - 11x - 6 = 0$$
 $P(x) = 4x^3 - x^2 - 11x - 6$  and -1 is root.

 $\begin{vmatrix} 4 & -1 & -11 & -6 \\ + & 1 & -4 & 5 & 6 \\ 4 & -5 & -6 & 0 \end{vmatrix}$ 

Quotient = Q(x) =  $4x^2 - 5x - 6$ 

Remainder = 0

The depressed Equation:

 $4x^2 - 5x - 6 = 0$ 
 $4x^2 - 8x + 3x - 6 = 0$ 
 $4x(x-2) + 3(x-2) = 0$ 
 $4x + 3 = 0$ 
 $4x + 3 = 0$ 
 $4x + 3 = 0$ 
 $4x = -3$ 

So, the roots are  $-1, -\frac{3}{2}, 2$ 

Bolve by using Synthetic division, if

U's 1 and 3 are roots of equation  $x - 10x^2 + 9 = 0$ 
 $1 + 1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 - 9 - 9 = 0$ 
 $1 -$ 

Quotient=Q(x)=x2+4x+3

Sardar Abdul Qadeer Malik

PhD(Mathematics Scholar)

HOD Math Department

0341-5838491

The depressed equation is

$$x^2 + 4x + 3 = 0$$
 $x^2 + 3x + x + 3 = 0$ 
 $x(x+3) + 1(x+3) = 0$ 
 $x(x+3) + 1(x+3) = 0$ 
 $x+1 = 0$ 
 $x = -1$ 
 $x = -3$ 

30 the roots  $1, 3, -1, -3$ .

3 and  $-4$  are the roots of the equation  $x^4 + 2x^2 - 13x^2 - 14x + 24 = 0$ 
 $p(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $p(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x^2 - 14x + 24 = 0$ 
 $y(x) = x^4 + 2x^3 - 13x + 2x$ 

## Sardar Abdul Qadeer Malik

PhD(Mathematics Scholar)
HOD Math Department
0341-5838491

# Sardar Abdul Qadeer Malik

PhD(Mathematics Scholar)
HOD Math Department
0341-5838491